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1. ������������	�������� ��	��������!��	"��#�����	$�%��	���&"'���(	�����	����	�����	�&#'��	���)	
�'	������	$�%��	 ��)�'*	�'���%�	���)�& �	 ��	�'���	!���+��	 ������	 �'��	���&"'���,	$�%��	
%���	�-.(/01 2324	�!(	 '�	����"��&�	4	-	5673	�%(	��������%'	����	�)�	����'"��	86	���*	.5	
min. 4s, gravitacijos konstanta G = 6,67· 10-11 m3/kg· s2. 
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2. ���������	 ����%��	 ������ ����	 &��	 �&!�����)���	 �����%���(	 ����'	 ���)�����	 ��!��	 �*	

������ ���'	��'�)��%' �	�	����'�	���)�����	��"���	������	)����'�	����"��&�	��%��	�	-	630. 
������&����	 ����"���'	 ��!�	 ����%� �	 ��	  '	 �)� �%'	 �)	 ����%��	 ��)��*	 ����%��	 �����'	 ��9�'	
rodiklis n = 1,6. 
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3. ������	 "������(	 !��������	 #����� �(	 ��%��+��	 #��	 ����	 "������*	 ��#���9&����	 ���������	
!���"���(	���"9���+��	��9��' ���	�'"&��	�'������	�	�����	��	�	"�)���*	��!���'����	#�"�(	��"	
��%�����	%�������* 
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4. ��'	#���'�'	��	����!�	��	'������	%���	%-633�!(	�����	�-6333%3*	���	�'��'�	��%�������'�	

������	��)��"&��	'��	#���'��(	��"	#���'���	���"���	�����,	��%'�:��'�	���!�s p = 105 Pa, oro 
��%��������	�0=15 0;(	'�'	%'��'	%���	�-3(38/�!<%'�* 
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6. Standus lengvas strypas su m1 ir m2	%����	%�9���	�����������	!���'��	!���	���"���	�:�����'	

paviršiaus viduj�(	#�����%"�%��	!�����	 �	 ��	�����)��	 ��	 ����'%��	?'���'�����' �	��"��& �*	
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8. ��	�"�����	�&!��!�����	���"��	&��	������&+��%�	%�!�������%�	�����(	����'	��"��@� �	A-2	�	
����%���	 ���"�	 ��'�)��%��*	 �����%��	 ����	 ���"�	 �	 -	 3(2	%*	 ���"��	 ��������& �	 �� ��!��	
�� �"�%�	���"������(	����'	���9�	42	-	63�*	��'	 ��!���+�' '	
laidininko liesdami laidus priešingomis kryptimis juda kiti du 
���"�������(	 �	���9'�	��������%��	42	-	2	�(	43	-	8	�(	!���+���	
v2 = 0,3 m/s, v3	 -	 3(8	 %<�	 =9�*	 ���*>*	 4������	 ��'���	 ������	
�� �"��+��%�	���"������* 
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9. ����%�����	 ��&��'���	��������%�	%�9�	��%��	�	 ��	�����"9��%�	��&��'��*	���' �	���� �	

 '�	 ���������%�	 ��#' �	 �������	 ���	 ����#���%'	 ��)��	 ��	 ��%��	 �B�	 ��'	 ����������	
����&����	 �����*	 ��&��'����	 �%�!��	 �	 �����	 ��%����*	 4������	 ����#'�'�	 ��	 �����'�	
��&��'����	����'"�	����&��* 
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'�'���	 ����"����	 ��	 ������	 ������'��	 ��	 &��	 �)�����"'%��*	 
�"�"�%��	 �'����	  ��	 !���	

sukurti e�����'�'	 ��	 �'����'�'	 �'��*	 	�'"&����(	 ��"(	 ���	 ��%���	 �	 ����	 �������+�'	 ��	
�)�����"&�'	 :'�'�'	  �"� �%'	 ��&�+��	 "�"�����	 ��!�	 533(	 �'�'�	 ������"�%��	 ���%��'%��	
����������'%��	��'	���"���'	������'�'	����!� '�*	�������+�'	��	�)�����"&�'	:'�'��	#��!�	
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11. Nustatyki��	��&�+�'	��9�'	�'"����*	����%'���D	��������	��'�)����	��	�������	=������	��'�)�����	
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